
Model MCQs 

PC-2 Logical and Quantitative Reasoning. 
 

1. If the weather is beautiful, everybody goes for a walk. Walking is a good 

form of exercise and keeps everybody healthy. Hence we can conclude that: 

A. Everybody exercises quite often. 

B. Beautiful weather leads to good health.  

C. Everybody loves to walk. 

D. Walking makes everybody appreciate the weather. 

 

1. ªÉÉÊn àÉÉèºÉàÉ JÉÚ¤ÉºÉÚ®iÉ cè, ºÉ¤É ãÉÉäMÉ ºÉè® BÉEÉä VÉÉiÉä cé* ºÉè® ABÉE +ÉSUä |ÉBÉEÉ® BÉEÉ BªÉÉªÉÉàÉ cè +ÉÉè® 

ºÉ¤É BÉEÉä º´ÉºlÉ ®JÉiÉÉ cè* +ÉiÉ& càÉ ÉÊxÉ−BÉE−ÉÇ ÉÊxÉBÉEÉãÉ ºÉBÉEiÉä cé ÉÊBÉE :-  

 BÉE) ºÉ£ÉÉÒ ãÉÉäMÉ +ÉBÉDºÉ® BªÉÉªÉÉàÉ BÉE®iÉä cé*   

 JÉ)  JÉÚ¤ÉºÉÚ®iÉ àÉÉèºÉàÉ ºÉä +ÉSUÉ º´ÉÉºlªÉ ÉÊàÉãÉiÉÉ cè*   

 MÉ) ºÉ£ÉÉÒ ãÉÉäMÉÉå BÉEÉä ºÉè® +ÉSUÉÒ ãÉMÉiÉÉÒ cè*   

 PÉ) ºÉè® ºÉä ºÉ£ÉÉÒ ãÉÉäMÉ àÉÉèºÉàÉ BÉEÉÒ ºÉ®ÉcxÉÉ BÉE®iÉä cé*  

 

2. Vishal introduced the lady standing next to him as, “She is my wife’s 

grandmother’s only son’s only daughter”. How is the lady related to Vishal? 

A. Mother–in-law 

B. Sister–in-law 

C. Daughter 

D. Wife 

 

2. ÉÊ´É¶ÉÉãÉ xÉä +É{ÉxÉä {ÉÉºÉ JÉ½ÉÒ ªÉÖ´ÉiÉÉÒ BÉEÉ {ÉÉÊ®SÉªÉ BÉE®´ÉÉªÉÉ* ªÉc àÉä®ÉÒ {ÉixÉÉÒ BÉEÉÒ nÉnÉÒ BÉEä <BÉEãÉÉèiÉä {ÉÖjÉ 

BÉEÉÒ <BÉEãÉÉèiÉÉÒ {ÉÖjÉÉÒ cé* ´Éc ªÉÖ́ ÉiÉÉÒ ÉÊ´É¶ÉÉãÉ ºÉä ÉÊBÉEºÉ |ÉBÉEÉ® ºÉÆ¤ÉÆÉÊvÉiÉ cé*   

 BÉE) ºÉÉºÉ   

 JÉ)  £ÉÉ£ÉÉÒ   

 MÉ) {ÉÖjÉÉÒ   

 PÉ) {ÉixÉÉÒ  

 



3. What is the difference between Point A & Point B?  

I.  It takes 13hrs for a bus travelling at night. 

II. It takes 16hrs for a bus travelling during day time. 

 

A. Statement (I) alone is sufficient to answer the question.  

B. Statement (II) alone is sufficient to answer the question. 

C. Statement (I) alone or statements (II) alone are sufficient to answer the 

question. 

D. Statement (I) & (II) together are not sufficient to answer the 

question. 

E. Statement (I) & (II) together are necessary to answer the question.  

 

3.   ÉÊ¤ÉxnÖ {ÉE A´ÉÆ ÉÊ¤ÉxnÖ ¤ÉÉÒ BÉEä ¤ÉÉÒSÉ BÉDªÉÉ +ÉxiÉ® cè ?  

 * ABÉE ¤ÉºÉ BÉEÉä ®ÉiÉ àÉå ªÉÉjÉÉ BÉE®xÉä àÉå 13 PÉÆ]ä ãÉMÉiÉä cé  

 ** ABÉE ¤ÉºÉ BÉEÉä ÉÊnxÉ BÉEä ºÉàÉªÉ ªÉÉjÉÉ BÉE®xÉä àÉå 16 PÉÆ]ä ãÉMÉiÉä cé  

 BÉE) BÉEä´ÉãÉ BÉElÉxÉ (*) |É¶xÉ BÉEÉ =kÉ® näxÉä BÉEä ÉÊãÉA {ÉªÉÉÇ{iÉ cé  

 JÉ)  BÉEä´ÉãÉ BÉElÉxÉ (**) |É¶xÉ BÉEÉ =kÉ® näxÉä BÉEä ÉÊãÉA {ÉªÉÉÇ{iÉ cé   

 MÉ) BÉEä´ÉãÉ BÉElÉxÉ (*) ªÉÉ BÉEä́ ÉãÉ BÉElÉxÉ (**) cÉÒ =kÉ® näxÉä BÉEä ÉÊãÉA {ÉªÉÉÇ{iÉ cé  

 PÉ) BÉElÉxÉ (*) A´ÉÆ (**) nÉäxÉÉå |É¶xÉ BÉEÉ =kÉ® näxÉä BÉEä ÉÊãÉA {ÉªÉÉÇ{iÉ xÉcÉÓ cè*  

 b.) BÉElÉxÉ (*) A´ÉÆ (**) nÉäxÉÉå |É¶xÉ BÉEÉ =kÉ® näxÉä BÉEä ÉÊãÉA +ÉÉ´É¶ªÉBÉE cé*  

 

4. 25% of 50% of 142 is: 

A. 24.5 

B. 98 

C. 12.5 

D. 1.75 

 

4. 14² BÉEÉ 50± BÉEÉ 25± cè :-   

 BÉE) 24.5   

 JÉ)  98   



 MÉ) 12.5   

 PÉ) 1.75  

5. If a vendor reduces the price of his fruit basket of Rs 500 by 20%, and 

still makes 25% profit on the original cost price, what was his original cost 

price? 

A. 360 

B. 400 

C. 275 

D. 320 

 

5. ªÉÉÊn ABÉE ÉÊ´ÉµÉEäiÉÉ +É{ÉxÉÉÒ 500 â{ÉªÉä BÉEÉÒ {ÉEãÉÉå BÉEÉÒ ]ÉäBÉE®ÉÒ BÉEä àÉÚãªÉ BÉEÉä 20± BÉEàÉ BÉE®iÉÉ cè, +ÉÉè® 

ÉÊ{ÉE® £ÉÉÒ ´ÉÉºiÉÉÊ´ÉBÉE ãÉÉMÉiÉ àÉÚãªÉ {É® 25± ãÉÉ£É BÉEàÉÉiÉÉ cè, =ºÉBÉEÉ àÉÚãÉ ãÉÉMÉiÉ àÉÚãªÉ BÉDªÉÉ lÉÉ?  

 BÉE) 360   

 JÉ)  400  

 MÉ) 275   

 PÉ) 320   

 

 

 

 

 


